Efficiency vs dr

o 0.02
<
9.018
d.016
c
Q
®.014
=
9.012
0.01
0.008
0.006
0.004
0.002

.......

1.9

—1

1

—=— DQMstep3 TT_CKF
—e— DQMstep3_TT_default

Ratio

.| —— DQMstep3_TT_defaultNEWT3

[y
TTTT] T T

o
©
a

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
)
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
0

Ratio

2

15

1

-1

Efficiency vs pu

500
3 S U T T W
e e R A At

D008 -+ bbb
51 E : : : : : :
T R S L R St S
= F : : : : : : :
RS o SIRAIE S L S A
S S s SO NS S
S St St SO N R S

YT R N N N
0.002F---i-----bennni P S

0.002&---: Boeeed ; beeed
L_MBMTJ””L”.

Ratio

._.
I
"
T

25 30 35 40 45 50 55 60 65
Pileup

0.95
2

(=]



	Contents
	Page 1


